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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['1I", "lopt’], ['T, "Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAl', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot
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P3-1

BfiE) | EBAK (R | EHE (EHRH/HK) | ERERE (/R | XK R

07:30 283 150.0 2. 583 5| THR@07:30 KRENFERF (RATRREED)
08:00 283 150.0 2. 583 5| TiHAe08:00 RHEFEF (KEAEREE)
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12:30 283 150.0 2.583 = FiHfe12:30 RHAEF (REEZEBE)
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14:30 283 150.0 2. 583 5| FEAe14:30 KEIEFE CGRAMFESE)
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17:30 283 150.0 2.583 = FiHFe17:30 REEF (REAEZBE)
23t]5943.0 (21)%) 3150.0 3203 KEC: 2080.0, PH: 5.5

E&PH (7.42) Re

[@{&REC 6607.0 K5, ZEiNF{KECAE&HRER
#[EKECE (1847.0 vs 6607.0) 15




FRV (ml plant-1)
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P3-1_0, Day=74 (2025-06-11)
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P31 BT | SEBEK (D) | Eges B/ | ERes (5/R) |R= E3
07:05 283 150.0 2.583 5| {Ri%@07:05 Bz (FRAERSE)
07:35 283 150.0 2.583 = {Rig@07:35 B (RAERSE)
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11:05 283 150.0 2.583 =l RRiBe11:05 Bah (REAKEE)
11:35 283 150. 0 2.583 5 {Ri%e11:35 Bz (RAERSE)
12:05 283 150.0 2.583 =l {Rige12:05 B3 (RAERSE)
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21t 6226.0 (22)%) 3300. 0 323 KEC: 2080.0, PH: 5.5

FEREHEM S STEAERST (182.0 : 147.0), AIBEMT—W@E XFHE
FRINEPRIEBRE147.0 ml.

large discrepency for begining water status (368:66.0), set to 368 ml.
E&PH (7.25) 1R

[E;&EC 6940.0 K15, EiFARECRER MitER

PE[EIRECE (1887.0 vs 6940.0) 535
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29 - 29 1 29
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m=835,m FV0=0 m=875,m FV0=0 m=915,m FV0=0 m=965,m FV0=0
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33 -
32 32 4
39 32 1
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31 4 31
30 - 30 4
30 30
29 - 29 -
99 | 29 -
28 - T T T 28 1 T T T T T T T T T
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P3-1

BfiE) | GEBATK (RY) | ERE (EA/K) | ERERE (B/R) | XS R

08:20 278 150. 0 2.583 (%= ’Ri%@08:20 Bz (kAERESE)
08:50 278 150. 0 2.583 &= Bi%@08:50 B3h (FKAFEREE)
09:30 278 150.0 2.583 &= Bi%@09:30 B3h (FKAHEREEE)
10:00 278 150. 0 2.583 (&= B2i1%@10:00 B3h (KRPBIEREE)
10:30 278 150.0 2.583 |Z & Bri%@10:30 B3zh (REERESE)
11:00 278 150.0 2.583 &= Bi%@11:00 Bah (kBHEREE)
11:30 278 150.0 2.583 (&= Bi%@11:30 Bzh (RAEREE)
12:00 278 150. 0 2.583 & & BRi%@12:00 Bzh (REERESE)
12:30 278 150.0 2.583 |B =& BRi%@12:30 Bz (GRFAEREE)
13:05 278 150.0 2.583 [/\ifg ]Ri%@13:05 Bzl (RAEERSE)
13:35 278 150.0 2.583 [/\il§ B2i8@13:35 Bz (REERE)
14:05 278 150.0 2.583 1] Bi&e14:05 B3 (KRAHERESE)
14:35 278 150. 0 2.583 ] Bi%@14:35 Bzh (kBHEREE)
15:05 278 150. 0 2.583 (= RRi%e15:05 Bz (RAERSE)
15:35 278 150.0 2.583 |B & Bige15:35 Bzl (KRBERKSE)
16:10 278 150. 0 2.583 |% =& Bi%@16:10 Bzh (kAEREE)
16:40 278 150. 0 2.583 (Z=| H1T016:40 Bz CGRAEESE)
17:10 278 150. 0 2.583 & & Bige17:10 B3h (RAEREE)
24t]5004.0 (18X%) 2700. 0 323 KEC: 2080.0, PH: 5.5

FEREHEM S STEAERS (179.0 : 145.0), AIBEMT—@E XFHE
FRINEPRIEBRE145.0 ml.

large discrepency for begining water status (280:117.0), set to 280 ml.
[E;&EC 6967.0 K5, EiUF{RKECAERMitER

BE[EIRECE (1897.0 vs 6967.0) 535



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=72 (2025-06-09)
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100 A
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200 A

150 -
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50 A
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60 Warning: lcol ['FVI',| "FVO'] missing 20
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o
o

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.5

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=375, FV0=0 m=420, FV0=0 m=470, FV0=0
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27.0 - 29.5 1
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28.0 i \'\_.
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T T T 28 0 - T T T T T T T T ’ T T T
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m m=375,m FV0=0 m=420,m FV0=0 m=470,m FV0=0
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28 -
25 31 .‘N-o..
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24 - 30 -
24 - —— MW
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m=585, FV0=0

33 -

32 -

31 -

30 -

29 A

28 -

—0—

MW

585

T T
590 595

m=835,m FV0=0

31 4

30

29 A

28

27 A

—0—

M_W

835

T
840 845

m=695, FV0=0

33 A

32 A

31 1

30 A

29 A

28 A

—0—

MW

T
655

T T
660 665

m=875,m FV0=0

32 A

31

30 A

29 -

28 A

27 -

—0—

M_W

T T T T T
877.5 880.0 882.5 885.0 887.5

m

m=695, FV0=0

33 A

32 -

31 4

30

29

—0—

MW

28 -

695

T T
700 705

m=920,m FV0=0

33 A

32 A

31 -

30

29 -

28 A

—0—

M_W

920

925 930

m=760, FV0=0

32 -

31 1

30 A

29 -

28 A

27 A

—— MW

T
760

T T
765 770

m=1000m FVO=0

33 A

32 A

31

30 A

29 A

—o— MW

T
1000

T
1005

T
1010




hour

0:00 - 100

0:10 -
7:20 80
8:20
9:20
10:20 - 60
- 40
20




P3-1

BfiE) | GEBAK (R | EHME (EHRH/HK) | ERERE (/R | XK R

07:20 278 150.0 2.583 = {RRiB007:20 B (RFEAEEE)
07:50 278 150.0 2.583 = {RRiB007:50 Bzh (RAEEE)
08:20 278 150. 0 2.583 E[ BRi%@08:20 Bz (RFA{EREIEE
08:50 278 150.0 2.583 5| 1Rike08:50 Bz (KRFIEEE)
09:20 278 150.0 2.583 = RRiB009:20 B (RAKEE)
09:50 278 150. 0 2.583 E BRi&@09:50 B (RAERE)
10:20 278 150.0 2.583 F[ BRi%e10:20 Bz CGRAERSE)
10:50 278 150.0 2.583 = RRiB0@10:50 Bz (REAKEE)
11:20 278 150. 0 2.583 E BRige11:20 Bz CGRAERESE)
11:50 278 150. 0 2.583 S {Ri%e11:50 Bz (GRAERSE)
12:20 278 150.0 2.583 =l RiB012:20 B (REAEEE)
12:50 278 150. 0 2.583 E BRige12:50 Bz (GRAERERE)
13:20 278 150.0 2.583 5| {Ri%e13:20 B3 (RAERSE)
13:50 278 150.0 2.583 5| {Rike13:50 B (REAERS)
14:20 278 150. 0 2.583 E BRige14:20 Bz CGRAEREE)
14:50 278 150.0 2.583 5| {Ri%e14:50 B3 (RAERSE)
15:20 278 150.0 2.583 =l RRiB015:20 B (RFAEESE)
15:50 278 150.0 2.583 =l RRiB015:50 Bz (REAEEE)
16:20 278 150. 0 2.583 El BRi&e16:20 Bz CGRAEREEE)
16:50 278 150.0 2.583 F[ BRige16:50 Bz (GRAERESE)
17:20 278 150.0 2.583 =l RiB017:20 B3 (REAEEE)
=2it]5838.0 (21)%) 3150.0 3203 KEC: 2080.0, PH: 5.6

FEREHEM S STEAERS (179.0 : 145.0), AIBEMT—@E XFHE
FRINEPRIEBRE145.0 ml.

large discrepency for begining water status (402:84.0), set to 402 ml
[E;&EC 6500.0 K5, EiF{RECAERMitER

BEERECE (1927.0 vs 6500.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=71 (2025-06-08)
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2400 321 2500 46

Warning: lcol [FVI',| "FVO’'] missing 60
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o
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- 2000

- 1000

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=935, FV0=0 m=995, FV0=0 m=390, FV0=0
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P3-1

BfiE) | GEBAK (R | EHME (EHRH/HK) | ERERE (/R | XK R

07:20 273 150.0 2.583 = {RRiB007:20 B (RFEAEEE)
07:50 273 150.0 2.583 = {RRiB007:50 Bzh (RAEEE)
08:20 273 150. 0 2.583 E[ BRi%@08:20 Bz (RFA{EREIEE
08:50 273 150.0 2.583 5| 1Rike08:50 Bz (KRFIEEE)
09:20 273 150.0 2.583 = RRiB009:20 B (RAKEE)
09:50 273 150. 0 2.583 E BRi&@09:50 B (RAERE)
10:20 273 150.0 2.583 F[ BRi%e10:20 Bz CGRAERSE)
10:50 273 150.0 2.583 = RRiB0@10:50 Bz (REAKEE)
11:20 273 150. 0 2.583 E BRige11:20 Bz CGRAERESE)
11:50 273 150. 0 2.583 S {Ri%e11:50 Bz (GRAERSE)
12:20 273 150.0 2.583 =l RiB012:20 B (REAEEE)
12:50 273 150. 0 2.583 E BRige12:50 Bz (GRAERERE)
13:20 273 150.0 2.583 5| {Ri%e13:20 B3 (RAERSE)
13:50 273 150.0 2.583 = RRiB013:50 B (RFAKESE)
14:20 273 150. 0 2.583 E BRige14:20 Bz CGRAEREE)
14:50 273 150.0 2.583 5| {Ri%e14:50 B3 (RAERSE)
15:20 273 150.0 2.583 =l RRiB015:20 B (RFAEESE)
15:50 273 150.0 2.583 =l RRiB015:50 Bz (REAEEE)
16:20 273 150. 0 2.583 El BRi&e16:20 Bz CGRAEREEE)
16:50 273 150.0 2.583 F[ BRige16:50 Bz (GRAERESE)
17:20 273 150.0 2.583 =l RiB017:20 B3 (REAEEE)
23t]5733.0 (210%) 3150.0 3203 KEC: 2080.0, PH: 5.6

WERRHEME S TEAERTS (176.0 : 145.0), AIgEMF—RE XAH45
BRI\ SEPRIERL145. 0 ml.

FE R 13 B RECEE SR <.

[&REC 6200.0 K5, EiNF{KECAR&RER

#[EKECE (1877.0 vs 6200.0) T 5

REXREBT I HEREC/PHESR K, FIREZINIERRKR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=70 (2025-06-07)
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0 Warning: lcol [FVI',| "FVO’'] missing |36 .
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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